
9 − b225

a2
− 161624

x2 − 646423

a2
− 122

x2 − y221

a2
+ 18a18a18a + 818120

x2 − 14x14x14x + 494919

x2 + 12x12x12x + 363618

a2
− 10a10a10a + 252517

x2 + 6x6x + 916

x2 − 7x7x − 181815

x2 − 9x9x + 202014

x2 − 4x4x − 212113

x2 + 3x3x − 101012

x2 + 7x7x + 121211

abab − 9a9a + 2b2b − 181810

xyxy − x − 7y7y + 79

abab + 2a2a − 4b4b − 88

xyxy + 5x5x + 3y3y + 15157

acac + adad + bcbc + bdbd6

−4a4a + 15

3b3b − 24

−35xy35xy35xy35xy + 42y42y42y23

−21x21x21x2 + 12xy12xy12xy12xy2

6a6a2
+ 10ab10ab10ab10ab1

no.1

3636 − x225

a2
− 494924

x2 − 252523

x2 − 922

a2
− b221

a2
+ 16a16a16a + 646420

x2 − 12x12x12x + 363619

x2 + 10x10x10x + 252518

a2
− 4a4a + 417

x2 + 2x2x + 116

x2 − 4x4x − 515

x2 − 7x7x + 121214

x2 − 3x3x − 181813

x2 + 4x4x − 212112

x2 + 7x7x + 101011

abab − 8a8a + b − 810

xyxy − 3x3x − 4y4y + 12129

abab + 5a5a − 3b3b − 15158

xyxy + 3x3x + 2y2y + 67

acac − adad + bcbc − bdbd6

−7x7x + 35

5b5b − 24

−72xy72xy72xy72xy + 18y18y18y23

−18ab18ab18ab18ab + 24b24b24b22

20x20x20x2 − 28xy28xy28xy28xy1

no.2

8181 − b225

a2
− 124

x2 − 363623

a2
− 252522

s2 − t221

a2
+ 20a20a20a + 10010010020

x2 − 16x16x16x + 646419

x2 + 14x14x14x + 494918

a2
− 6a6a + 917

x2 + 4x4x + 416

x2 − 4x4x − 212115

x2 − 7x7x + 101014

x2 − 6x6x − 161613

x2 + 2x2x − 812

x2 + 9x9x + 181811

abab − 5a5a + 3b3b − 151510

xyxy − 7x7x − 6y6y + 42429

abab + 4a4a − 5b5b − 20208

xyxy + 3x3x + 8y8y + 24247

acac − adad − bcbc + bdbd6

−6b6b + 15

7x7x − 24

−42ab42ab42ab42ab + 18b18b18b23

−20a20a20a2
+ 8ab8ab8ab2

10xy10xy10xy10xy + 15y15y15y21

no.3
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